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inction name Address Length Type String

_term_proc
q

_init_proc e [s] LOAD: 080 00000013 C /1ib/1d-1inux. sc. 2
| sub_so4a43c .p [s)] LoAD: 080~ 0000DO0F C libstde++ 50. 6
] ___gmen_start__ .p @ LOAD: Q80 Q0000Q00F c __gmon_start__
| _memset -p @ LOAD: 030 Q0000014 [ _Jv_RegisterClasses
| ___libc_start_main -p @ LOAD: 080 00000015 C __gxx_perscnality_w0
__I0_getc -D |g LOAD: Q80 00000004 c libm. so. 6
| _£flush -p [s] LOAD: 080 Q000000E C libgece_s.s0.1
| _strlen -p @ LOAD: 080 00000004 C libe. se. 6
] _printf - @ LOAD : 080 Q000000F C _I0_stdin_used
| _puts .p || [s] Loap:os0 ooooooo?  C fflush
| atart .t || [§] LoAD: 080~ 00000005 € puts
] sub_B048510 .t |§ LOAD: Q80 00000008 c stdin
] sub_B048570 .t |§ LOAD: Q80 00000007 c printf
] sub_B043540 .t |§ LOAD: Q80 00000007 c strlen
] sub_B8048630 .1 @ LO&D: 030 Q0000007 C memset
I main .t @ LOAD: Q80 00000009 c _I0_getc
| fini Lt @ LOAD: 020 00000012 C __libc_start_main
Tinit .t |§ LOAD: Q80 0Q000000B c CXXABI_1.3
| sub_sod8784 .t [s) LoaD: 080 00000004 C GLIEC_Z2.0
| sub_g048790 .t || [8] .rodata:~ ooo00OOC  C nput flas;
] £ || 5] .rodata: - 0000000F  C
c
©
c
C

neaset ex @ .rodata: 00000Q00F Flag 1= wrong.
1 __libe_start_main ex [5] . data:08~ 00000034 k239Gh} A2fY4ds—a80W1 #k5ER_T [evlbVTnOn3ZeX [CHt85Z0]T
| _I0_getc ex @ Ldata:08- 00000005 33c!T
| £f1ush ex @ Ldata:08- 00000007 wxxxx'xlB
| strlen ex
] printf ex
: puts ex v
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.roaata:usuas /e ao (%
.rodata:080487E4 ; char format[]
.rodata:080487E4 format db "Input flag:",@ ; DATA XREF: main+11to

.rodata:080487F@ ; char aFlagIsRight[]
.rodata:080487F0 aFlagIsRight db 'Flag is right.',8 ; DATA XREF: main:loc_80486F§To
.rodata:080487FF ; char s[]

.rodata:080487FF s db 'Flag is wrong.',® ; DATA XREF: main+391o
.rodata:080487FF _rodata ends

.rodata:080487FF

LOAD:@8@4A88PE ; ========s=================——-ooooooooo oo e
LOAD: 93PA880E

LOAD:@804880E ; Segment type: Pure code
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int _ cdecl main()

2{

i€

char s; f/ [esp+16h] [ebp-116h]

sub_80485A0(&=, 8x100u);

if (|sub_80848630(&s)| )
puts( Flag 1s right.");

9 else

10 puts("Flag is wrong.");

11| return @;

12}

3
4
5/ printf("Input flag:");
6
7
8
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Segn 1[int _ cdecl sub_804863@(char *s)
Gniq 2

plt 3| size t wl; // eax

plt 4 int i; /f edx

.plt 5

.plt 6] if ( s )

.plt 7 4

.plt 8 vl = strlen(s);

.plt 9 if (vl )

-plt 10 {

-plt 11 if (vl ==29)

. text 12 {

. text 13 i = @;

vl @14 while ( s[i] == b[(a[i]l / 3u - 2)])
. text 15 {

-texl @ 16 if ( ++i == 29 )
'IBX: 17 return 1;

x| 18 }

' 19 }

. text

. text 2'? }

fing] 21 )

- 22| return @;

exte 23}
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; DATA XREF: sub_804863@:1loc_80486681Tr

W Export data

.data:03049B18 ;
.data: 08049819 Bt as

.data:03049B1A
data ; ' O hex string (mnspaced)

.data O hex string (spaced
-data 3 (O string literal
.data
.data:@8049B1F
_data:08049B20 i (O C unsigned char array (decinal)
.data:88049821 - (O initialized C variable
.data:@8049B22
.data
.data:@8049B24
.data PA9B25 [] save data to cliphoard
.data:03049B26 5

.data:88049 Preview

.data
.data !
.data 4982 f Oxds, Ux0D, UxAD, Uxed, Uxad, Uxer, Ux09, Ux0F, Uxnd, Uxl
.data:03049B2B 0x1E, 0x49, 0xTE, 0x33, 0x15, 0xT2, 0Ox8D, 0x33, 0x24, 0x65,
_data:-@804982C : 0x21, 0x54, 0x0C, Ox78, Ox7TE, 0x78, 0x78, 0x78, OxlB
.data:88049B2

.data

.data
.data:03049B30
.data:08049B31
.data:88049B32 Line:1 Column:l
:g:i:;gggjgggg _data ends Output file |export_results. txt V| .

DO000EZE 08040E28: . data:08049B258 (Synchronized with Hex View—1) I}tméﬁ{b]f}g.@ﬁdﬁl nq‘l xiangshangbashaonidgn

@ ¢ unsizned char array (hex)

) raw bytes

unsigned char ida_chars[] =




1: @8049AEQ

o
W
—+
[+1]

108049831
108049832
:08049B33
:080459B33

[« =yl

.data:08049AEY
.data:08049B15
.data:08049B15
.data:08049B16
.data:08049B17
.data:98049B18
.data:98049B19
.data:08049B1A
.data:08049B1B
.data:98049B1C
.data:98049B1D
.data:@8049B1E
.data:08049B1F
.data:08049B20
.data:98049B21
.data:08049B22
.data:08049B23
.data:08049B24
.data:98049B25
.data:08049B26
.data:08049B27
.data:98049B28
.data:98049B29
.data:08049B2A
.data:08049B2B
.data:98049B2C
.data:98049B2D
.data:08049B2E
.data:08049B2F
.data:08049B30

ata

ata

ata

ata

=
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Run:
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_data

db 48h

db 5Dh ;

db 8Dh

db 24h ;

db 84h

db 27h ;

db 95h
db 9Fh

db 54h ;

db 18h
db 1Eh

db 69h ;
db 7Eh ;
db 33h ;

db 15h

db 72h ;

db 8Dh

db 33h ;
db  24h ;
db 63h ;
db 21h ;
db 54h ;

db ech

db 78h ;
db 78h ;
db 78h ;
db 78h ;
db 78h ;

db 1Bh

; DATA XREF: sub_38@

; DATA XREF: sub
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Export as

O hex string {unspaced)
(O hex string ¢spaced

() string literal

@ C unsigned char array (hex)

() C unsigned char array (decimal)
() initialized C wariable

() raw bytes

|:| Save data to clipboard

Preview

unsigned char ida_chars[] =

0x6C, 0xBE, 0x3Z,
0x6B6, 0x59, 0x34
0x31, 0xZ3, 0x6E,
0x78, 0x4C, 0xAZ,

0x83, 0x38, 0x7E,
AP I A A T e

0OxB4, 0x39, 0x47
0x64, 0xT3, 0x2D,
0x39, 0x43, 0x3Z,
0x56, 0x37, 0x8E,
0x43, 0x4D, 0x74

0x68, 0x7D,
0x61, 0Ox386,
0x3F, 0xD4,
Ox4F, Ox@D,
0x38, 0x53,

0x4l,
0x51,
0x3E,
0x33,
0x54,

0x67,
0x57,
0x63,
0x54,
Ox6F,

Line:1 Ceolumn:l

Cutput file|export_results.txt

Export

Cancel
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